	B1
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	B2 

A= (-4,-1)  B= (2,5)  
C=(0,-1)   D= (3,2) 
	B3 

   y = 2x + 5 
-2x + y = 10 

	B4
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	B5 

A=(-1,1)  B=(2,2)    
C= (2,2)  D=(4,-4) 
	B6 
2x + y = 5 
-2x + y = 10 

	B7
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	B8 

A=(-4,-3) B= (2,6)   
C= (-4,6)  D=(-2,3)  
	B9 
y = x – 5 
x = -y + 3 

	B10
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	B11 

A=(-2,3)   B=(4,3)   
C= (2,6)   D= (2,2) 
	B12 
y = x -5 8y+x=8 


Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
Name: ___________________________ 

Student Answer Sheet      Sort Set (circle one)  A    1    A1     B1  
 
Period: _______ 

	Parallel 
	Perpendicular 
	Neither 
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Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
Name: ___________________________ 

Student Answer Sheet      Sort Set (circle one)  A    1    A1     B1 
 
 
Period: _______ 

	Parallel 
	Perpendicular 
	Neither 
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Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
Name: ___________________________ 

Student Answer Sheet      Sort Set (circle one)  A    1    A1     B1 
 
 
Period: _______ 

	Parallel 
	Perpendicular 
	Neither 
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Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
Name: ___________________________ 

Student Answer Sheet      Sort Set (circle one)  A    1    A1     B1 
 
 
Period: _______ 

	Parallel 
	Perpendicular 
	Neither 
 


Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
 
Name: ____________________ 

Student Answer Sheet Version 2 
 
 
 
 
 
 
 
Period: _______ 

Directions: After Completing the sort , complete the chart by entering the label and both slopes.  Place all Parallel sets in column 1, Perpendicular in column 2 and everything else in column 3. 
	Parallel 
	Perpendicular 
	Neither 

	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   

	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   

	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   

	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   
	_____ 

Slope Line 1 =    

Slope   Line 2 =   
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Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
 
Name: ____________________ 

Student Answer Sheet    
 
 
 
 
 
 
 
Period: _______ 

Directions: After completing the sort, complete the chart by entering the label and both slopes.  Place all Parallel sets in column 1, Perpendicular in column 2 and everything else in column 3. 
	Parallel 
	Perpendicular 
	Neither 

	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   

	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   

	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   

	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   
	_____ 

Slope Line 1 =    

Slope Line 2 =   


Key for Sort B1: Mixed Set 

Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
Name: ___________________________ 

Student Answer Sheet      Sort Set (circle one)  A    1    A1     B1 
 
 
Period: _______ 

	Parallel 
B2,B3, B7, B10, 
	Perpendicular 
B4, B5, B9, B11,  
	Neither 
B1, B6, B8,  B12 
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Sort: Parallel, Perpendicular, Neither 
 
 
 
 
 
 
Name: ____________________ 

Student Answer Sheet    
 
 
 
 
 
 
 
Period: _______ 

Directions: After completing the sort, complete the chart by entering the label and both slopes.  Place all Parallel sets in column 1, Perpendicular in column 2 and everything else in column 3. 
	Parallel 
	Perpendicular 
	Neither 

	B2 
Slope Line 1 =   1 
Slope Line 2 =  1 
	B4 
Slope Line 1 = 0   
Slope Line 2 = No Slope  
	B1 
Slope Line 1 =   5/4 
Slope Line 2 =  6/5 

	B3 
Slope Line 1 =   2 
Slope Line 2 =  2 
	B5 
Slope Line 1 =   1/3 
Slope Line 2 =  -3 
	B6 
Slope Line 1 = -2   
Slope Line 2 =  2 

	B7 
Slope Line 1 =   -3/2 
Slope Line 2 =  -3/2 
	B9 
Slope Line 1 =   1 
Slope Line 2 =  -1 
	B8 
Slope Line 1 =   3/2 
Slope Line 2 =  -3/2 

	B10 
Slope Line 1 =   0 
Slope Line 2 =  0 
	B11 
Slope Line 1 =   0 
Slope Line 2 = No Slope  
	B12 
Slope Line 1 =   1 
Slope Line 2 =  -1/8 


